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SCHOOL 
LEVEL 
SUBJECT 
TERM 

 

SECTION A 

Q1 02 03 

1 2 2 

0 11 012 013 
.. 

1 4 3 

SECTION B 

021) (a) flower

(b) leaf

(c) stem

(d) roots

04 .. 05 

3 2 

014 ' .015 
• : . '·.: 

4 3 

06 

3 

016.i
I / ' • 

1 

022) A: seed B: Young Plant 

023) 

024) 

025) 

·'� ,4i'J 

(a) -} 

Animal group 

fish 

bird 

insect I 

(b) 
mammal 

Stage X : Young 
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"' 

. ;','.'., . . � 
'.-. ,,· 

:,. -�.
--

... 
,, .... 

· : Animal
Cockroach 

Chicken 
Giraffe 
• Frog:

✓ 

?ut a tick {✓) in the correct !?ox 

✓ 

Stage Y : Adult 

.. 
·., 

· • Letters • .

. .

C 

.A.··· 

·,_B., .. 

D 

.

07 
·. 

1 

: 017···

2 

08 ·. 09 .• Q10
' 

3 4 3 

018 I 019 ···020
.. .• .. 

2 4 1 
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Q26) 

Q27) 

Q28) 

Q29) 

Q30) 

Q31) 

Q32) 

Q33) 

Q34) 

Q35) 

---------> 
Weakest Strongest 

I 
Magnetic Force 11---------"'V Magnetic Force 

G □ c=J □ 
(a) R
(b) S
(c) Q
d p

(a) sports

Magnate 

(b) Plant P cannot produce fruit as it is a non-flower plant.

(a) amphibians

(b) I do not agree with Alex's conclusion as Animal D can live in land

and water while animal E can only live on land.

(a) The plant in both stages of the life cycle have leaves.

(b) The plant in stage P has flowers and fruits while the plant in stage R

does not.

(a) Property 1 : It is flexible Property 2 : It is strong 

(b) Material : F

Explain : Material F allows light to pass through as it allows the user

to see clearly through the lens.

(a) The two like poles of magnet X and Y are facing each other that is

why they repelled each other.

(b) Turn magnet X around so that the unlike poles will face each other

and they would attract. The cars will then move towards each other.

(a) Object X is a magnetic material so the magnet would attract object X

and the spring will stretch longer.

(b) (i) Magnet B (ii) The spring stretched longer

(a) The iron nail became an electromagnet.
(b) (i) She can increase the number of coils.

(ii) She can increase the number of batteries.

(c) Steel
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